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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 746 95.35 | =hLs | 000 ~ 000 1.72 870 st 1.00 | 6.00 ~ 9.80 95.35 | =hLS | 5.00 ~ 980 1.72 8.70
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 764 97.94 | #nRS | 000 ~ 764|215 10.84 st 1.00 | .00 ~ 1020 97.94 | ThLS | 5,00 ~ 1020| 2.15 10.84
3 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 7.39 94.25 | #nLs | 000 ~ 7.39| 2.01 10.16 st 1.00 | .00 ~ 1020 94.25 | =hS | 5,00 ~ 1020 2.01 10.16
4 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 7.39 94.28 | =St | 000 ~ 7.39 | 1.99 10.06 st 1.00 | 6.00 ~ 1040 94.28 | =nLS | 5,00 ~ 10.40| 1.99 10.056
5 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 7.05 89.46 | =nWS | 000 ~ 7.05)| 1.94 9851 st 1.00 | 6.00 ~ 10.00 89.46 | ThLS | 5,00 ~ 10.00| 1.94 9.81
P 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 728 9279 | #nWS | 000 ~ 728 1.94 978 st 1.00 | 6.00 ~ 1080 92.79 | #hL4 | 5,00 ~ 1080| 1.94 9.78
- 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 721 91.68 | =h4 | 0.o0o ~ 000 1.67 8.44 st 1.00 | 6.00 ~ 9.40 91.68 | =h4 | 5,00 ~ 9.40)| 1.67 8.44
P 100kN/mM%E#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZS - ~ — — —
s 1.00 | 000 ~ 693 87.86 | =nLs | 0.00 ~ 0.00) 1.66 841 st 1.00 | .00 ~ 880 87.86 | =hLS | 5,00 ~ 880| 1.66 841
9 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.90 87.35 | #hds | 0oo ~ 000 1.67 843 st 1.00 | 6.00 ~ 870 87.35 | #hds | 6.00 ~ 870 1.67 843
10 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 656 82.70 | =hLs | 000 ~ 0.00) 1.66 841 st 1.00 | 6.00 ~ 8.00 82.70 | =hLS | 5,00 ~ 800 | 1.66 841
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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